

Simplify Algebraic Expressions

The expression of $x + y \cdot z$ will use the order of operations to solve.

If $x = \underline{\hspace{2cm}}$, $y = \underline{\hspace{2cm}}$, and $z = \underline{\hspace{2cm}}$,
then $\underline{\hspace{2cm}} + \underline{\hspace{2cm}} \cdot \underline{\hspace{2cm}}$.

You should $\underline{\hspace{2cm}}$ first.

Simplify Algebraic Expressions

The expression of $x - y + z$ will use the order of operations to solve.

If $x =$ _____, $y =$ _____, and $z =$ _____,
then _____ $-$ _____ $+$ _____.

You should _____ first.